VR 29 R IritEib R 1A
RER A REE RS AR

W< 2D z5185 PELELEAARN|  EIEbAL | &< 25 EbRN
<Q 1> BWEHBICSILE Lizh? 2 4 2 0 0
Q2> BEOTHLEEE LE LN 2 2 2 1 1
Q3> MBENEESTZL KL ETN? 2 3 2 0 1
Q4> HEESEAEEHINN D RT VLD TLEMN? 2 4 1 0 1
KQ 5> HEOHMIN N RT ol TTn? 3 3 0 1 1
<Q6 > WHEOBITWEITLEM? 3 2 2 1 0
KQ 7> P EDREREITRNSTZTT M 3 1 3 1 0
Q8> EIKMICEVMRFET LN ? 4 0 3 0 1
mER<ESRES m 55 mELLELERAGL = 5B DAL m 2 {EF5B b

£Q1> £Q2> £Q3> LQ4>

.A..‘.A.
L 4B 2B A 4

£Q5> <€Q6>»

LQ7>

£Q8»

¢

&
"3

"

RFEFE . MDA

BB Z 9D M5 EHLELEARV| EOBbARY | £<ZHEbRn
KQ 1> FEHECEMBMICSIMLUE Lizh? 3 5 0 0 0
Q2> REOTEHLEEEZLE LN 2 5 1 0 0
Q3> MBNEmESTL KL ETH? 6 2 0 0 0
Q4> WECRAEEHINN LT VLD TLEN? 7 1 0 0 0
KQ5> HBOMBIZNORT NPT TTH? 8 0 0 0 0
<Q 6> HEORITHY)TLIZ? 4 3 1 0 0
Q7> A EDREREITRNSTZTTN? 5 2 1 0 0
<Q8» AERMICRVMEZIETLIZM? 7 0 1 0 0

BER<ESAD m F538S5 n EELLBLFRILL = 58 AL m 2<L{F58 b4
£Q1>»

«Q2» «Q3>» <Q4>»

90

£Q5» £Q6>» £Q8>»

XX




Yok 29 £EFER IritEib R 1A
ERR R SR I - T

W< E O Z515 EHHEHBFRRN Z 5 By 2L EH Bbln
<Q1Y WETHEWMIBMLE Lin? 3 5 0 0 0
Q2> BMEOTESLHEEL LE Ln? 5 2 1 0 0
KQ3Y MELPBEE-TLIITREETN? 7 1 0 0 0
Q4> HEESEAEEHINN D RT VLD TLEMN? 6 2 0 0 0
KQ5 > ZEOBIPIHNYRT Nl TTH? 5 2 1 0 0
<Q 6> MEORITMY)IT LM 3 4 1 0 0
KQT> S EOREREIZRP TN 4 3 1 0 0
KQ8» BIRMIZRWEETLZN? 5 2 1 0 0

mEECESRS m 5D mELLLELFALL » T58 DAL m2LE5B by
£Q1» £Q2» £Q3» £Q4»

09009

€Q5> £Q6>» £Q7>» £Q8>»

92000

REFHE - EESAREAGRIV - IVIEE

WL 2O D 585 EHLLLERRN | ZIBbARY | &<z bRV
Q1> BECEBHIZSMUE L 4 3 1 0 0
Q2> WEOTFELEBELZ LELLEN? 3 3 2 0 0
Q3> FMENREESTLLIITEEETH? 4 3 1 0 0
Q4> WECRATEEHIN M RT N HDOTLEN? 5 3 0 0 0
<Q 5> HEOBHIIH Y RTINoTTT 2 6 2 0 0 0
<Q 6> FHEORITHEE)T LI 3 3 2 0 0
Q7> MFEDREREITRN>T2TTH? 2 5 1 0 0
<Q 8> BERICRUVMRIETLIZN? 5 2 1 0 0

mER<EDRD mESES mELLELEALL » E5EDHAL m2{ES3E DL

LQ1> £Q2>» €£Q3>» LQ4>
LQ5> £Q6>» Q7> £Q@8>»

9




Yok 29 £EFER IERALERE 1 54E
ZEFR - iR O - I

W< 2D z5185 PELELEAARN|  EIEbAL | &< 25 EbRN
<Q1Y WETHEWMIBMLE Lin? 4 2 2 0 0
Q2> BEOTHLEEE LE LN 4 3 1 0 0
Q3> M#ENEE-TL I L E TN 6 2 0 0 0
Q4> HEESEAEEHINN D RT VLD TLEMN? 6 2 0 0 0
KQ 5> HEOHBIHNV LT N7 TT )2 7 1 0 0 0
KQ6 > FEORITHYTLIM? 4 2 2 0 0
Q7> MFAEDEEREIANSTZTTHN? 4 4 0 0 0
KQ8» BIRMIZRWEETLZN? 6 2 0 0 0

mEEKESES mE5A3 mELELLHERLL 0 538D m2L{ET38 b
£Q1> «Q2» £Q3> <Q4>

)OO

£Q5>

L£Q6>» LQ7>

. A I

£Q8>

&

REFH . MEREEE
WL 2O D 585 EhulbEahn|  ZoEbARV | KT EbRN
Q1> BECEBHIZSMUE L 4 4 0 0 0
Q2> WEOTFELEBELZ LELLEN? 3 3 2 0 0
Q3> FMENREESTLLIITEEETH? 4 4 0 0 0
Q4> WECRATEEHIN M RT N HDOTLEN? 6 2 0 0 0
<Q 5> HEOBHIIH Y RTINoTTT 2 7 1 0 0 0
<Q 6> FHEORITHEE)T LI 3 0 5 0 0
Q7> MFEDREREITRN>T2TTH? 3 5 0 0 0
<Q 8> BERICRUVMRIETLIZN? 6 1 1 0 0

mEECKESEDS mE5RS mELLLBEALL » T353R DAL = £<{ES38 b4
£Q1» €Q2» £Q3» £Q4»

s
o

&

L£Q6> LQ7>» £Q8>»

%

e




Yok 29 £EFER IERALERE 1 54E
RER A RRAEDOBR I

W< 2D z5185 PELELEAARN|  EIEbAL | &< 25 EbRN
<Q1Y WETHEWMIBMLE Lin? 3 5 0 0 0
Q2> BEOTHLEEE LE LN 2 3 2 1 0
Q3> MBENEESTZL KL ETN? 5 3 0 0 0
Q4> HEESEAEEHINN D RT VLD TLEMN? 7 1 0 0 0
KQ 5> HEOHBIHNV LT N7 TT )2 5 3 0 0 0
<Q 6> HEOREITHY)T LI ? 4 3 1 0 0
KQ 7> P EDREREITRNSTZTT M 3 4 1 0 0
KQ8» BIRMIZRWEETLZN? 6 2 0 0 0

mER<EDRD mESES mELLELEALL » E5EDHAL m2{ES3E DL
LQ1>»

LQ2>» LQ3>» LQ4>

w

e

LQ5> LQ6> LQ7>

¢

L£Q8>»

o

&

RHEHH  EEO

< EHES 585 EHHEBLFERRN 5 B 2L Bbin
KQ1 > FECEMMICEMLUE LiZ? 6 2 0 0 0
KQ2Y BEOTEHLHEEZ LELEN? 3 4 1 0 0
KQ3> WENEE-T LKL ETH? 5 3 0 0 0
CQA> BEPRATERHI N 2T 0L DT LN ? 5 3 0 0 0
KQ 5> HEOHRIIH N T Ino2THn? 5 3 0 0 0
KQ 6> FEORITHYITLEM? 4 3 1 0 0
CQT> MFEOBERIILR -7 TF 12 6 2 0 0 0
Q8> MM RVEETLEN? 6 2 0 0 0

mEECKESEDS mE5RS mELLLBEALL » T353R DAL = £<{ES38 b4
£Q1» £Q2» £Q3» £Q4»

Q0 0«

<Q5> £Q6>

LQ7>

£Q8>

@

) o

¢



Rk 29 AEFEHA IREREAEER 1R
WERE : Z2Z2AEBEDLL A1

<D Z515 EHHEHBFRRN Z 5 By 2L EH Bbln
Q1> BEITHEBICBMUE L2 4 3 1 0 0
Q2> FEOTERLEER L LELEN? 3 4 1 0 0
KQ3Y MELPBEE-TLIITREETN? 5 3 0 0 0
Q4> HEESEAEEHINN D RT VLD TLEMN? 5 2 1 0 0
KQ 5> HEOHMIH NPT oo T2 7 1 0 0 0
<Q 6> MEORITMY)IT LM 4 4 0 0 0
KQ T MFEAEDOREEEIZE N2 TTn? 4 4 0 0 0
Q8> BAMICAVEETLEN? 7 1 0 0 0

mEECKESEDS mE5RS mELLLBEALL » T353R DAL = £<{ES38 b4
€Q1>» €Q2» €Qa3» €Q4a»

Q09

LQ5>»

LQ6> LQ7> L£Q8>

<

RERE . ala=r—Ta VR T

< E 5D 55 EHLLLERRN | ZIBbARY | &<z bRV
Q1> BECEBHIZSMUE L 5 2 1 0 0
Q2> WEOTFELEBELZ LELLEN? 3 2 2 1 0
Q3> FMENREESTLLIITEEETH? 5 3 0 0 0
Q4> WECRATEEHIN M RT N HDOTLEN? 5 2 1 0 0
<Q 5> HEOBHIIH Y RTINoTTT 2 5 1 2 0 0
<Q 6> MHEOEITMEITLIN? 4 4 0 0 0
Q7> MFEDREREITRN>T2TTH? 3 5 0 0 0
<Q 8> BERICRUVMRIETLIZN? 5 3 0 0 0

BER<ESRAS mF5RS mELLLEEALL = F58 DAL = 2<F58bi
£Q1» £Q2» <Q3» <LQ4»

0000
2000




VR 29 R IERALERE 1 54E
REFH: ala=r—Ta UHdiiml

<D Z515 EHHEHBFRRN o Bbirn 2L EH Bbln
Q1> BEITHEBICBMUE L2 4 4 0 0 0
Q2> FEOTERLEER L LELEN? 3 1 4 0 0
<Q3Y HMEPEHESTLIICKLETN? 4 4 0 0 0
Q4> HEESEAEEHINN D RT VLD TLEMN? 4 4 0 0 0
<Q 5> HEOBRUEHN NIRRT o7 TT M2 5 2 1 0 0
<Q6 > MEORITMITLEN? 3 3 2 0 0
KQT > WHEOREEEZAN ST TTN? 5 3 0 0 0
Q8> BIRHICRVEET LN ? 7 1 0 0 0

BER<ESRAS mF5RS mELLLEEALL = F58 DAL = 2<F58bi
<Q4>»

£Q1>» «Q2>» «Q3>»

LQ5> £Q6> LQ7>»

990

REFA - LEEAM

£Q8>

BB Z 9D M5 EHLELEARV| EOBbARY | £<ZHEbRn
KQ 1> FEHECEMBMICSIMLUE Lizh? 2 4 2 0 0
Q2> REOTEHLEEEZLE LN 1 3 3 1 0
Q3> MBNEmESTL KL ETH? 3 4 1 0 0
Q4> WECRAEEHINN LT VLD TLEN? 3 3 1 1 0
KQ5> HBOMBIZNORT NPT TTH? 2 2 4 0 0
<Q 6> HEORITHY)TLIZ? 2 2 3 1 0
Q7> A EDREREITRNSTZTTN? 1 2 4 1 0
<Q8» AERMICRVMEZIETLIZM? 3 3 2 0 0

mERCEDRD m SRS mELLLELFALL » E5BDAL m 2LESE O
£Q1» «Q2» £Q3» «Q4»

VO

LQ5> LQ6> LQ7>» L£Q8>

X X X

o¢




